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MISSION SSC MTS-2023 (TARGE_T BATCH)

By selling an article, a man makes a profit of 25% of its
selling price. His actual profit percent is:
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MISSION SSC MTS-2023 (TARGE_T BATCH)

/ At the rate of simple interest per annum, the interest on a

/')
7,\ certain sum of money for 10 years will be Eth part of the

amount, then the rate of simple interest is per annum is:
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There is @ increase in an amount in@years at simple
interest. What will be the compound interest of 30000 after

2 years at the same rate?
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MISSION SSC MTS-2023 (TARGE_T BATCH)
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In certain quantity of mixture of milk and water; the ratio of
milk and water is 14:1. 15 liters of mixture is taken out and

< 15 liters of each water and milk added to the mixture; the
{ﬂ ratio changes to 17:4. Find the initial quantity of mixture.
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MISSION SSC MTS-2023 (TARGE_T BATCH)

There are 8 faces and 12 edges in a polyhedron. How many
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vertices has it got?

T GgHeTeh | § TeTdh 31X 12 TR g1 §1 3aeh Tokar ot 87
a. 4 b. 5 A6 d.7
% ;

fa oA 9esT - Based on Previous Year Paper
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Find the volume of a regular tetrahedron with edge length of

6v2 cm.
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MISSION SSC MTS-2023 (TARGE_T BATCH)

= ok Two numbers are in the ratio 3:4 and their HCF is 90, find
- 27 " the LCM of the numbers.
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MISSION SSC MTS-2023 (TARGE_T BATCH)

A number when divided successively by 2, 3 and 5 leaves

2 @ remainder 1, 2 and 3 respectively. What will be the
21 |

remainder if such a least number will be divided by 7.
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A chord AB of a circle C; of radius (\/§ + 1) cm, touches a
circle C, which is concentric to C4. If the radius of C, is

L AB= X
= bz (@,\&) (V3 — 1) cm. The length of AB is:
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MISSION SSC MTS-2023 (TARGE-T BATCH)
if(a+b): \/\E;_b_z 4:1, where > 0,ab =
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/(‘/ Find the mean proportion of 0.36 & 0.49.
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MISSION SSC MTS-2023 (TARGE_T BATCH)

Ifa:b:c = 2:3:4 and 2a-3b + 4c = 33, the value of c is:
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A watermelon is cut into two pieces in the ratio of 3:5 by
; weight. The bigger of the two is further cut in the ratio of
5 =36'6o S:7 by weight. Find the ratio of weight of each of the three

.g‘:z
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MISSION SSC MTS-2023 (TARGE_T BATCH)

Two workers A and B working together completed a job in 5
days. If A worked twice as efficiently as he actually did and

have been completed in 3 days. To complete the job alone, A

would require:
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A can do 2 of a piece of work in 5 days, B can do = of the

y/
same work in 9 days and C can do 3 of that work in 8 days.

In how many days can three of them together do the work ?
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MISSION SSC MTS-2023 (TARGE_T BATCH)

A boy can swim in still water at a speed of 10 km/hr. If the
Y =10 M\ speed of the current would have been S k/h, then the boy
S % could swim 60 km: ’
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The length of a train and that of a platform are equal. If
with a speed of 90 km/h the train crosses the platform in one
minute, then the length of the train is:
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MISSION SSC MTS-2023 (TARGE_T BATCH)
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